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If he told her this he can ruin her — 119 Bpbpn X% 2 9 MR ON

OVERVIEW

7m1 27 stated that the ruling of the 771wn that one may not remarry his wife whom
he divorced because of a ¥y7 aw or 173, is only if he explicitly told her when he was
divorcing her that he is doing so because of the 7"¥ or 771. The reason, says 1", is
because if he stated it so, he can ruin her.! There is a dispute between '@ and
mooIN as to what 7% 9P means and how the 05 prevent this from happening.
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It appears to Mmoo that this concern of 7% HPYpn >¥n, is merely that he will
spread a rumor that her divorce is invalid, but not that the v should be actually

nullified and her children from her second husband will be asnan -
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For he did not make a stipulation when he divorced her; he merely said, ‘I am divorcing
you because of this reason’ —

Mmoo anticipates a difficulty:
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For even though in many instances a ‘revelation of one’s mindset’ is effective
to nullify a transaction (even without saying n"v), like the case of a nfman VY in
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' See xnyw 7"7 >"wn who writes; Y7 NP 19°K IR MRS RWINW MR 7992 9Y 719p900 ROW RPYP DWW MINNT (XYY
AR CIR D C1DAW PWITA DYWA SNANRKR 101 WA DA X7 73 78n Y 1IM1 YA 129DR 77977 17 WO 7AW R 1°R72 D°27AY
VI 0 PUIa T 17 DI '[D’Db PATRR ST 1R I bua 13 RERN 0°NT72 027 INED® OX '['1’7?1.'“7 NYT2 70 TPhYAwDY
097277 IR P17 PPNATY W RDY ANRD RWIN RY 190X 7709 12 MORW VW 11POW 19 M2 1ARI R WY NN 13700 ROV
YOy 1220 3007 XPW Y72 a4 From °"wno it seems that without this 73pn the vy will be va. However mooin
disagrees.
* 1 %y means that he states, ‘I am taking this action on the condition that this stipulation will be fulfilled’. If he
would have said here, ‘I am divorcing you »n"y that you made a 171 which I cannot nullify, or the negative rumors
about you are true’, and it turned out that this stipulation is not true, the v3 would be Yv2. However since no clear
stipulation was made, he merely stated, ‘I am divorcing you because of these reasons’, the v3 will remain valid even
though the reasons were not true.
3 A nmman Tuw means a note where the intent is to hide one’s assets. For instance, a widow with assets, who wishes
to remarry, but does not want that her new husband should have any claim to her assets, so she writes a (fictitious)
deed transferring her assets to her daughter. The widow may at a later date reclaim her assets from her daughter
(even against her daughter’s will), for we understand that this transfer was only to protect her assets from her new
husband. This n¥7 717" is sufficient to invalidate the transfer of assets to her daughter, even if she did not make any
stipulation (by saying n"v).
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And in the case in na1 bR P95, where he sold his property for he needed the

money to buy something else, and it turned out that he did not need the money; the
rule is that the sale is nullified because of this ny7 "19°). The question is why his ny7 "1%°) here is
not sufficient to invalidate the v3?!*

mooIn responds:
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Here we cannot say that ny7 "9°) should be effective; moown proves this, since

according to »'', we require a double stipulation -
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Therefore (since he cannot be 5027 the ©3) it appears to Moo that it will only be
merely a rumor; that he will spread the rumor that the divorce is invalid, in
order to have his wife return to him —

mMdoIN responds to an anticipated difficulty:’
- SNYP ANWT T 95 NYTY INNY NNYII 9294 23 Yy N

And even though she already married someone else, nevertheless he assumes

that she is permitted to him for it was a A w2 niur -
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Therefore the 2°»o>m ruled that he cannot take her back (even if she did not

* Presumably, according to *"wA (see footnote # 1 & # 10) this ny7 »12°3 is the reason why the v is 702

> There is a general dispute between 112 »"9 whether we require a %193 *Xin. According to "9 in order for the
stipulation (°X1n) to nullify the transaction, both sides of the *Xin must be stated; i.e. ‘if these conditions will be met,
the transaction is valid, and if they are not met, the transaction is nullified’. However according to the 7127 we do not
require a 719> >Xin rather only one side of the *Xin needs to be said, i.e.” if these conditions are met the transaction
will be valid’. That is sufficient to nullify the transaction if the conditions are not met. It follows that in a case where
the 1127 do not even require a >Xin to nullify a transaction, but a Xn? 17" is sufficient, »"1 would certainly not
require a 9193 *Rin. Later (on the "2 7ny) the X3 states that the 71wn there which ruled that one who divorces his
wife because (he suspects that) she is an n°1%*X, he may remarry her, and we are not concerned for 719%p, since the
mwn is according to n"1 who requires a 2193 °Rin and in this case he was not 2913 the *Xin, so he cannot nullify the va.
The concern there by n°1%»X is the same as the concern here by 2"% or 173, therefore since we see that n" requires a
9193 >X1n to nullify the v3, this proves that a Xn" 12 is not sufficient to nullify the v3. See ‘Thinking it over’.

® According to m9oIn the reason we tell him that you will not ever be able to remarry this woman (even if she does
not marry anyone else) is because if we permit him to remarry her, he will spread a rumor that the divorce is invalid
since he realized that the stories about her were not true (and there will be a 197 on [her and] her children). However
once we warn him that he will not be able to remarry her ever (regardless whether she remarries someone else or
not), he will not be 137 ®*%1. See footnote # 9.

7 mooin is asking what will he gain with his 1¥%; since according to him the vx is Su3, and she (as an WX NwKX
[according to him]) is living willingly with another man, so she is a 0 who is 77927 710K, how can he take her
back?!

¥ She thought that she was nw1n, and by a 3wa nr she may return to her husband. This is what he assumes.

® The reason he is T¥9 X% is in order to take her back; however once he realizes that he cannot take her back
(because of this 2151 nIpN), there is no point in being 3% XX,
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remarry), so now he will not be 1¥% 8oxm,

In summation; according to '01n if the rule would be 7°11° (if she did not remarry), he will claim
the v is void (in an attempt to take back his wife), and that will make a 1¥% on the children.
Therefore the 0°»51 made a 730 that he cannot take her back ever (even if she does not remarry),
in which case there is no reason for him to be 1¥% XX, since he will never be able to have her
back.

mooIn cites s""w7 explanation (why there is no concern):
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And >'"'w1 explained that even if he will say; ‘if I would have known that my
reasons are unfounded, etc. (I would not have divorced her)’ he would (still) not

be believed -
= 09291 NN pwaba 1’5‘!}3;‘!5 YN XY 199NNY 9IONY Y111 1294

For since he knows that he is forbidden to take her back and he was not

concerned to wait and verify these issues -
= 1YY N2%aN NN ROY INYTa NH”

He revealed his mind that she is not so dear to him, so he will not be believed when
he said. ‘if I knew this was not true I would have not divorced you’.

Moo responds to an anticipated difficulty:'!
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And according to »''% who requires a 9152 "Xin, if he was not 921> the “xin,
there will not even be 1% —

mooIn responds to another anticipated difficulty:
- P951n5 XY BN NPPN TASY 973 D3 INM 229 9NIRPT N

19 xmyv 71"72. According to *"wA if he will challenge the va (before the 713Pn) he would be believed and the children
would be o> 1n; however once there is the 11"pn that if he divorces her because of 2"w or 773, he can never have her
back for his wife (even if she does not remarry), he will no longer be believed to challenge the va.

' We mentioned previously (see footnote # 5) that according to »" if he divorced his wife because she is an n°179&
he may take her back, for we are not concerned for 1¥% since X1n% 71°793 X2. Seemingly in our case if not for the i"pn
there is the concern for 132 X% even though there was not a >Xin (for the husband maintains that his ny7 "2 is
good enough to nullify the v3), so why is there no concern according to »"9 (and he may take back the n>179>>X) when
there was an actual >Xin (but 1992 X?)?

"2 In our case (not according to »"7) we are concerned that the husband will think that his n¥7 »2°3 is as good as a
*Xin, therefore there will be 132, however according to "3 since we require a 9193 >Xin, it is understood that without a
2193 °Xin the va is valid, so he cannot be 157 &7¥n.

" From the X3 later on the '2 Ty when it wishes to reconcile our 73w» of 91> X7 and the following mwn where the
(1"7) 13271 maintain 117 is that the following mwn is where 7°XIn% 7993 R?; indicating that our 7awn is where 7799
7°RIN?; however that cannot be for if 7°X1n% 7°953, what would °111° X7 accomplish, the children will be o> (if it
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And this which »''9 stated in our 7w»n; ‘any 971 which the woman made that

requires the examination of a 221, he may not take her back’ -
- Basxany no9a3 X9 Fonbinb nrhasTa 19990

This is in a case where he repeated the statement, but did not double the >Xn -
:N9IPYD NN OIWYT 99109 XYW A3 999 PR NININY 19999 INT

For if he doubled the °Xin, the rule that he may never take her back is
ineffective, for there will always be the problem of »1p%p.

SUMMARY

According to "wn the concern is that he will be van the vx and the n"pn
accomplishes that we do not believe him. According to m»do1n the concern is for
1v7, and the n"pn assures us that he will not be 1¥% X¥n.

THINKING IT OVER

1. m90In states that in our case (of 771 2"w DWW X°¥N), a YT M9 is insufficient to
nullify the v (as opposed to other situations where it is sufficient). md0I1N goes on
to prove it.'” However nmooin does not explain why indeed a ny7 »19° is insufficient
here. What could be the reason why indeed a ny7 "9° is insufficient here?!'®

2. Will the last two questions' of mdoIn apply to *"w1d as well?

turns out that there is no 971 or 1"w), regardless whether 7°11° or 7°117° R

4 This means he said to her, ‘I am divorcing you because of the 771 or 7"w, but if it weren’t for the 771 or 7"w, I
would not divorce you’ (but he never said the v should be 2v2); this is referred to as 7°n%1% 7793, but if he said that
if there is no 773 or 1"w, the v3 should be Hv3, that is called WXin® ;7°792.

' 1t would seem that X107 X1 720> 993 will be similar according to 1" like a ny7 »°3 according to the 127
Therefore we are concerned that he will mistakenly assume that since 7°n?1% ;7995 the 03 should be 7v2a (as if he
were ;1°Rin% 1°793), and therefore he will be 1¥% ®°%; however in truth since we tell him 1 X7 there is no concern
for 199. See footnote # 9.

18 If it turns out that there is no 771 or 2"w, the children from the new husband will be o717, See footnote # 13.

17 See footnote # 5.

'8 See 1Mo "wnon XK # 69-79.

" See footnote # 11 & # 13.
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